MATHEMATICS DEPARTMENT
HOUSTON COMMUNITY COLLEGE

MATH 0308 FINAL REVIEW PROBLEMS
Revised 10-22-07

These exercises represent a compilation of typical problems in this course. This is NOT a sample of the final exam.
However, deing these problems will help you to prepare for the final exam, The instructions for the problems are
followed by bracketed references to appropriate sections in the book.

Find the sum of the angle measures of the specified polygon. [8.1]
1) A pentagon.

Find the missing angle measure. [8.1]

2) 29°

Find the perimeter and area of the polygon. {8.2, §.3]
3) 29m

4m 'Bm 14m
|

35m

Solve the problem. [8.2]

4) A vegetable garden is 20 ft by 15 ft. A fence is to be built around the garden. How many feet of fence will be
needed? If fencing sells for $3.10 per foot, what will the fencing cost?

Find the area. [8.2, 8.3]

5) Of a rectangle measuring 7% mi by 4% mi.

6)
511t | 45 £t
|
_ 0O
36 ft
7) 29
17 em
30
12




Find the circumference and area of the cizxcle, Use % for 1. [8.4]

8)

Find the perimeter and area of the figure. Use 3.14 for m. [8.4]
9)

12 cm

36 cm

Find the volume and surface area. [8.5]

10) Of a rectangular solid 2 yd x 7 yd = 8 yd

Find the velume. Use 272 for 7. [8.5]

11} Of the circular cone pictared below.

49 mm

Use the properties of parallel lines to solve the problem. [8.6]
12) If p I| g and m£8 = 45°, what are the measures of the other angles?




Which property (if any) should be used to show that the triangles are congruent? [8.7]

13)
68°
11 745
68°  74°
11

Usea prop;:)rtion to solve the problem. [8.8]

14) Find the height of the building. Assume that the height
of the person is 5 ft.

169 ft

building

: Simplify. [9.2 - 9.6, 9.8]
15) 3+ (-8) - 16 - (~11) + 15

35

16) -14+14

17)5 -6+ 3252 - 4) ] +| 8(-9) |

-82-18+3+5.2
2-7

18)

Solve the equation. [9.7, 10.1 - 10.3]
19) —Zix ~24

20) -3.8q = ~16.8 - 1.4q

X X
2)=-==3
) 5 3

22) -5x + 6(3x - 6) = -15 - 8x




Solve the formula for the specified variable. [10.4]

23)N=53~%~2 forh

Solve the problem. [10.5, 10.6]

24) Sam left a $4 tip for a meal that cost $25.
a) What percent of the cost of the meal was the tip?
b) What was the total cost of the meal, including the tip?

25) If the first and third of three consecutive odd integers are added, the result is 63 less than five times the second
integer. Find the third integer.

26) Pind the length of a rectangular lot with a perimeter of 82 meters if the length is 7 meters more than the width.
(P=2L+2W)

27) The second angle of a triangle is 3 times as large as the first angle. The third angle is 40° greater than the fixst
angle. How large are the angles?

Solve the inequality. Give the solution set, and graph the solutions. [10.7]
28)1In-11=13n-5

29) - -f;. > -2x

Solve the problem. [10.5]

30) im has gotten scores of 99 and 93 on his first two tests. What score must he get on his third test to keep
an average of 85 or greater?

Graph the Hnear equation. [11.1]
My=- %X +1

32) 3y -6x=12

Simplify the expression. Use positive exponents. Assume variables represent nonzero real numbers. [12.1 -12.2]

%0
33) —14’1‘ 3

8,7
34) -—24)(6 yz
BXTy




35) 2p-3q#)3 (p~2¢°)

- 4
%) [L jv“]

5

-2
37 [—L'25 3]

Write the number in scientific notation. [12.2}

38) .000060112

Perform the indicated operation. Write the answer in scientific notation. Then convert the answer to decimal notation.
[12.2]

29 8.4 x10-1
2.1 x10-3
Perform the indicated operation. Write the answer in scientific notation. [12.2]

40) (4 x 109)(8 = 107)

Evaluate the polynomial. [12.3]
41) -6x2 ¢ 6x -8 forx=-2

Collect like terms and write in descending order. [12.3]

42) ~10mB + 14mb6 - 9m?2 + 15m8 - 6m6

Identify the degree of each term and the degree of the polynomial. [12.3]
43) 7x - 8x2 + 9 - 5x3

Add or subtract as indicated. [12.4, 12.7]
44) (6x2y - 2xy) = (3x2y + Bxy2) - (4dxy + 6xy2)

Find the product. [12.5 - 12.6]
45) ~10x3(-9x7 + 2x6 - 5)

46) (dp - 1)(16p2 + 4p + 1)
47) (-3 + x)(5x - 12)

48) (9m +2)2



Solve the preblem. [8.3,12.5]
49) Find a polynomial that represents the area of the shaded region.

X2 + 3%

i
;
|

Perform the division. Write the answer with positive exponents. {12.8]

50) (12x8 - 6x6 - 10:3) + (-2x3)

Perform. the indicated operation. [12.8]
42m5n - 12m4n5 + 18m3n”7
6m2n

51)
Factor out the greatest common factor. [13.1]
52) 48x9y9 + 12x4y? - 60xOy2

Factor by grouping. [15.1]
53)6-2x -3y +xy

Factor completely. [13.2,13.5]
54) 4x3 + 4x2 - 48x

55) x4 - 1

Factor. [13.2 - 13.4]
56) 2x2 - x - 15

57) x2 - 18xy + 81y2

Write the expression in lowest terms. [14.1]
2x +2 :

6x2 + 16x + 10

Multiply and simplify, if possible. [14.1]
59) 6p-6 . dp+4
5p2+6p+1 8-8p




Divide and simplify, if possible. [14.2]
22 ~ 4 . 224+ 2z

60) =
22422 -35 z2-10z+25



Answer Key
Testname: 0308.REVIEW . PROBLEMS.2007-2008

1) 540°

2) 126°

NP=92m; A=256m2
4) 70 ft; $217.00

5) 34% mi2

6) 810 ft2
7) 649 cm2
B8y C=88ft; A=616sqft
9) P=102.84 cm; A =488.52 cm?2
10) Volume = 112 yd3
Surface Area = 172 yd2

11} 7392 mm3
12y msZ2=msd=ms6=45° msl =ms3 =ms5=me7 = 135°
13) ASA
14) 65 ft
i5) 5
16) Undefined
17y 137
18y 12
19) 32
207
21) 45
22)1
23 h=6N-f-x
24} a) 16%
b) $29
25} 23
2624 m
27) 280 , 840 , 680
28) {n| n=-3}

6 -5 .4 32 - o

2 &
Ny

-3 B
3]
PV

]
i
]
|
|
~d ==

30) At least 63




Answer Key
Testname: 0308.REVIEW PROBLEMS.2007-2008

31)

32)

38) 6.0112 x 10-3

39) 4.0 x 102; 400
40)3.2 x 1013

41) -44

42) 5m8 + 8mb - 9m?2
43)1,2,0,33

44) 3x2y - 11xy2 - éxy
45) 90x10 - 20x9 + 50x3




Answer Key
Testname: 0308.REVIEW . PROBLEMS.2007-2008

46} 64p3 - 1

47} 5x2 - 27x + 36

48) 81mZ + 36m + 4

49) x4 13x2

50) -6x9 + 3x3 + 5

51) 7m3 - 2m2n4 4 3mnb
52) 12x4y2(4x5y7 + y2 - 5x2)
53)3-x2-y)

54) 4x(x - 3){x + 4)

55) (x2 + Dx + D(x - 1)
56) (2x + 5){(x - 3)

57) (x - 9y)2

1
°8) 3x+5
-3
59) 5p+1
60) {z - 2){z - 5}
z(z +7)
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